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Limity funkcí

9. Limity funkcí

9.1. Spo£t¥te následující limity:

lim
x→0

sin(ax)

x
, a > 0, lim

x→0

x

tg(x2 )
, lim

x→0

1− cosx

x2
;(9.1)

lim
x→0

tg x− sinx

x3
, lim

x→0

1− cos3 x

x sin(2x)
.(9.2)

9.2. Spo£t¥te následující limity:

(9.3) lim
x→0

ax − 1

x
, a > 0, lim

x→0

e2x − 1

3x
lim
x→e

log x− 1

x− e
.

9.3. Najd¥te a, b ∈ R tak, aby

lim
x→−∞

(√
x2 − x+ 1− ax− b

)
= 0.

9.4. Spo£t¥te následující limity:

lim
x→0+

e
√
sin x − cosx√

x
, lim

x→∞

(√
x+

√
x+
√
x−
√
x

)
;(9.4)

lim
x→0

(1 +mx)n − (1 + nx)m

x2
, m, n ∈ N, lim

x→π
3

tg3 x− 3 tg x

cos(x+ π
6 )

.(9.5)

9.5. Spo£t¥te následující limity:

(9.6) lim
x→π

4

(tg x)tg(2x), lim
x→0

(
1 + x3x

1 + x5x

) 1
x2

, lim
x→∞

log
(
1 + 4

x

)
log(3x − 1).

9.6. Spo£t¥te následující limity:

(9.7) lim
x→0

log(1 + sinx)√
2x+ 1−

√
x+ 1

, lim
x→0

esin(2x) − earcsin x

tg x
, lim

x→0

ex − 2 sin(π6 + x)

tg x
.

9.7. Spo£t¥te limity následujících posloupností:

lim
n→∞

(
1 +

1√
n4 + 2n3 −

√
n4 + 1

)n
;(9.8)

lim
n→∞

n(
n
√

2− 1), lim
n→∞

sin(2π
√
n2 + 1).(9.9)

9.8. Spo£t¥te:

lim
x→0+

arcsin(
√
x)

log(1 +
√
x)
, lim

x→1
(1 + sin(πx))cotg(πx);(9.10)

lim
x→0

x2√
1 + x sinx−

√
cosx

.(9.11)
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